MDX54 resisitive dipole measurements with the Single Stretched Wire System

Field at the center of the gap
SSW measurements performed at 60A with a 20mm step.
SSW STDEV on 10 repetitions

Field BO= 0.561523 Lm= 0.431808 m
NMR ul z

Int. Field STDEV Current STDEV drive beam
SSW -0.24258 [Tm] 2.00E-04 [Tm] 60 [A] 2.00E-03 [A]

Integrated Field as a function of lateral displacement inside the aperture at nominal current
Typical deviation on 3 repetitions = 2E-3[Tm]

1=60 [A]

SSW step length = 10mm
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Magnetization curve
SSW step length = 20mm
Typical current deviation on 3 repetitions =1e-3 [A]
Typical field deviation on 3 repetitions < 3e-5 [Tm]
Current Int. Field Int. Field [Tm] = f(|)
[A] [Tm]
0 -3.88E-03 o299 98888388R¢88
R 88832333 3&8RIJIIN
60 -0.24558 0.00 — — — "
100 -0.40499 0.10
120 -0.48195 020 - \.\
140 -0.55297 030
—B— It i
160 .0.60878 oo | \ Int. Field [Tm]
180 -0.65128 050 \
200 -0.68812 ’ \
-0.60 |
220 -0.71953 070 l‘l\.‘
240 -0.74751 080) ]

Salut Marco,

The MDX nominal operation current is around 60 A.

Required field integral is ©.238 Tm (180 MeV electrons, 22.75 degr.
bending angle).

The field region used is +/- 3@mm from the center.



